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QUESTION 1

A company has implemented a Web Service (WS) in IBM Sterling B2B Integrator (SBI). The WS is using unencrypted
HTTP as transport. The SBI is deployed as a single node instance. How can this transport be configured to be
encrypted?

A. Change the URL in the WSDL file to https://...

B. Change the transport to HTTPS in WS manager.

C. Change the SSL settings in SOAHttpServerAdapter.

D. Check in a SSL certificate and link to it in WS manager.

Correct Answer: B

QUESTION 2

A company requires FTP users to be unable to login after five failed login attempts. How can this be accomplished?
A. Create a Lockout Policy.

B. Configure the FTP user account.

C. Configure a LoginPolicy service configuration.

D. Add an entry to customer_overrides.properties.

Correct Answer: A

QUESTION 3

An analyst is responsible for implementing an AS2 solution for their company using IBM Sterling B2B Integrator (SBI).
After certificates and connections information have been gathered, what is the first thing that must be created in the
system?

A. Partners

B. Code List

C. Relationship

D. Organization

Correct Answer: D

QUESTION 4

An administrator is getting error notifications from the Schedule_IndexBusinessProcessService stating that a previous
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instance of the Schedule_IndexBusinessProcessService is still running. Which menu screen in the system displays the
conflict identified in the notification?

A. Operations > Lock Manager

B. Operations > System > Troubleshooter

C. Deployment > Services > Configuration

D. Deployment > Resource Managers > Resource Tags

Correct Answer: A

QUESTION 5

A client is experiencing failed Business Processes (BP) due to a resource group not having an active adapter available.
Which menu path identifies the adapters that are disabled?

A. Operations > Thread Monitor

B. Operations > Support Tools > Support Case
C. Deployment > Services > Configuration > List
D. Deployment > Services > Installation > Setup

Correct Answer: C
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